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(A) a’x—b%y =¢? (B) ax*+by*=c (C)ax+by+tcexy=d (D) ax_b_y =¢
z
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2.Max Z =2X;+ 3X,

st X41=5

X, £6
2X;+3X; = 18
X120,X,=20

sbsR PR B 7 A2 X AT 7] — 422
(A — & # B)% ERiEm (OF =38 (D) & ~T 47 #
3.Min Z=2X; — X,

st 3X;+4X; = 24

2X;+X; =210
Xi=20,X=0
MR E T RAZRET 5| —4£?
(A —x 4 B % &1t ©O) & Fmm (D)T 47 A%
4 BV | X X | X X | X | X | RHS
Z | —3 | =5 1 0 0 0 0
Xs 1 0 1 1 0 0 5
X4 0 1 1 0 1 0 6
Xs 2 3 2 0 0 1 21
ik BALEBRFEGHEEEAEH?
(A) Xy (B) X, ©) X3 (D) X4
5. F 4B ER P REACKSTATHE A B P > BB 44 RLF] A M RIBE#IE ?
(A& A% (B)®E A% (C) Vogel #g 4% (D) Russell 3£ 45 7%
6.7 PERT #4iF F A7 35 &4 Optimistic time & 35
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[9~11 ZRa4a ]
Max Z=X,—2X,+3X;
st X1 +Xo—X3=6
2X) — X + X3 < 4
X;1=20,X3=0
LR AU BRI BRS¢
(A)yo=y1+2y,
10. $H8 F 2 A KA MR B X ?

(A)2 (B)3
1Ly Ry 698 B 53 % ¢
A)yr,y2=20 B)yLy2=0

[12~14 &84 ]

B)yo=y1 —y2

O yo=—y1*+y2
©)4

O iRrxky=0

(D) yo = 6y1 + 4y

(D) 5
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A B C D ATy
1 60 80 160 9240 300
2 170 30 80 180 150
3 230 170 90 30 420
4 270 200 180 M 240
ERE 400 320 180 210 1110
128 @\ AERF B2 ERES
(A) 100 (B) 50 (C) 270 (D) 150
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(A) 150 (B) 30 (C) 210 (D)4 A &
14.%3b fi: RIFZ BERRAL
(A) 105400 (B) 105100 (C) 104800 D)&m K
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[16~18 % Ra4]
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16,36 % £ 218 B 17?
(A) A—D—H (B)B—F (C)C—E—F (D)C—E—-G—-TI
1736 8 £ 5% T8 F] A 472
(A) 24 & B)25 % (©)26 % (D)27 &
18. H #§ & # 8% R (slack time) 4 :
(A) 0 X% B)1 x ©)6 x (EFI
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RyBZat > ZaBFOAN (FRERL) 1A 2ABKBBFELT L

@ \A B 0 1 2
£— 0.6 0.5 0.4
% 0.7 0.5 0.45
e ] 0.65 0.55 0.4
BRI B EAR  TEFEERMBERN? (ATEEATHBEFRFASE —
~Fom - F=am)
A) (1,0,1) B) (1,1,0) (C) (0,0,1) (D) (0,1,0)
7 .
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(A) 1 B) 1.5 (©)2 D)3
0.7 0.1 02
213 £ P=[03 06 0.1|zf&cdkEsm%:
0.3 02 05]

(A) 71=0.5,7,=025,73=025
(B) 7Z1=0.3,7Z'2=0.2,7Z'3=0.5
(C) w 1=0.5,7Z'2 =0.35,7[3 =0.15
(D) 7'[1=0.5,7Z'2=0.4,7[3=0.1

0.95 0.05

22. % P=
= [0.9 0.1

J » XK A HE AR5 (Expected Recurrence Time) % :

(A w=13, wu,=12/13  (B) u=19/18, u=19 ©) w=12, ur=12/11 (D) =9, u,=9/8
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[23~25 & Ra% ] .
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(A)3/5 (B)2/5 (C)3/4 (D) 1/4
4.8 —@ BT R EE (Bp¥rey Tz d | ) 2HE?

(A) 1116 (B) 9/16 (©)7/16 (D) 5/16
25.L=? |

(A)3i@ B)4:& (C)53@ (D) 6 i&

[26~27 a4 ]
SSTAMBE BRI ETLE o BEAEASO TEAN  SMEFREM IO LG ELEE
BoEREFHORBEARUEME20 TRLHIR > SHEHRATHHREGTRAKRE S

ERE () 3000 4000 5000 6000 7000 8000
% 0.1 0.15 0.3 0.25 0.15 0.05
26. EPPI= ?
A)77 (&) B)8.7 (&) ©)9.7 (&) (D) 10.7 (&)
27. EVPI= ?
(A)0.45 (B ) (B)2.45 (%) (C)4.45 (%) (D) 6.45 (%)
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ERRMT—REEE RAR—ARGBRE > BYRTEEEAI > B EERFHE
Yo R EAE AL 0 RTINS 0 SRR o FHBER B 24 P RYE B
BREATHRAER A 20 42 35 3B 0 WK
288K BASMBEZHE?

(A) 26/65 (B) 27/65 (C) 28/65 (D) 29/65
298 B EZHE?

(A) 16/65 (B) 17/65 (C) 18/65 (D) 19/65
30.8—BAREH > FREBIME?

(A) 1/13 (B) 2/13 (C) 3/13 (D) 4/13

[31~32 % R84 )
B—®BERLT ¢ (L )

1 7 =2
3 -5 0
4 0 -4
-2 -3 6
BIEFEH SV R THERE?
(A) 11 (B) 12 (C) 13 (D) 14
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35. Linear Programming 2 ¥ X & #% % :

(A)fz X8 (B)# % 4. E] )% HRE
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(D) & £eh:84E
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(D) st 2
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B P1 P2 TR AR
M1 2 1 20
M2 2 2 28

B {3 8 $ 3,000 7T $ 5,000 7T

364K —2AE > RITER

Xi=HiBAZPl EXe9AH

Xo=5iE 4 & P2 ESHthfAE

FE X Fe Xo & C

(A)B &% # (B) M4 8 (OF:3 % & :4 (D) P 1 i 3

3.l — 2 BAR R EA
(A) Max Z = 3000X; + 5000,
(B) Max Z = 5000X + 3000X,
(C) Max Z = 3000M1 + 5000P2
(D) Min Z = 5000X; + 3000X,

3 HMME M2 X ARERFIAXA ¢

(A)2X+X, <20 B)X+2X, =28  (C) 2Xi+Xp = 20

39~43 AR A8 =
IR = Max Z=2.1X;+1.7X%+2.1X3+ 1.7X4

—9X;+2X35=20
X1+3X3=0
—3X,+8X4 = 0
3X—X4=0
X+ X, = 1800
X3+ Xy = 800

X0 X0 X3 X320

39.3 R/ X1=7

(A) 350 (B) 327.27 (C) 336.52
40,351 Xp=? -
(A) 1527.32 (B) 1427.37 (C) 1472.73
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(D) X;+2X%, = 28

(D) 372.36
(D) 1572.23
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41358 X=2

(A)380 (B) 420
423 Xy=7? _

(A) 400 (B) 380
43350 Z=2

(A) 5200 (B) 4710.91

44, Max Z. =3X;+ 2X;,
";ﬁ[‘f’&ﬁ/\\ 2X1+ X5 =8
X+Xy=6
X; »X=0
W AR KA ?
(A)S (B)6

45~4T7 R IR =
]R8 =: Max Z=3X;+2X+3X;3
2R 3X+2X, < 24
Xi+Xp+X3= 8

2X;+X3 = 10
X, > Xo > X320
45. LR ARA BB A AR 7
(A) 17 B) 18
46. LR A AR T AT AR 7
(A) 6 B)7
4TS 284 7
(A) 20 (B) 30
48~49 7@ 4R 15| RE ™9

A vg: Max = 5X1—3Xp+ 6X3 — 4X4+ 2Xs

(C) 400

(C) 420

(C) 4820.32

©) 8

(C) 19

©) 8

(C) 24

SRR 2K + 4%+ 3K+ Xy + 5Xs <12

X1 X0 X3 X0 X520
48.3% A Inspection ¥ X R H RMEMR Z=7

(A)25 (B) 35

49.% B A2 & A48 ME > 3550 Inspection X, » REKBERZ=7

(A)-32 ~(B)-40

50. Max Z=10X;+ 15X,
SRR 4X,+8X, <32
X1+ 6Xy=42
X1 —2X,; =2
X1 ’ X2 —>_=0
7Z=?
(A) 62 (B) 68
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(C) 38

(C) -48

)78

(D) 390

(D) 390

(D) 4931.56

(D) 10

(D) 20

(D) 9

(D) 36

(D) 30

(D) -56

(D) 69



